


" Question No. &

T —

Perform the mdmd operations and Simplify. "': s :::‘:"’




Question No. §

ITA={1,2.3} anay D={0, 1,22} then

vA=8
A and B are disjoints sets
"BEA

AC B
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‘ Question No. 21

~ Which one of the following equations is an identity?

®)
3(5x —3) = 15x+ 19
@ —-2(x4+6)+3x=x—12

W

A

i

5 4

;X—; = 11







Question No. 2

ifa. bandc are real numbers with a = b, then

N

a+c=-(Db+C)
J*(‘.-—D*C
aA+CcC<D+cC

a+c>b+cC




Questhon No 25

the equation 2x” 4 I 3x

150 has
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Question No. 14

x+1

The domain of 1S
(x+3)(2x—3)

R\{-3, 3}

R\ 3, )
R\ {3, 3]
R\ {-3]}




Total questions in exam: 25 | Answered: 0

Question No. 21

Using set notation, write the elements belonging to the set

s I * |
{Z | = n",n is a natural number less than or equal to 4}.




Question No. 17

i
| . : 3z+2 -
- The domain of the function - T 18

¢ R\{_%74}
“ R\ {}-4)
’ R\ {1,4)

* R\ {-}1,-4)
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Suppose r € R;r # (. Factor out the least power of r from 6r*/* — 5r

r—2/3(6 — 57)
r 24 {OT 6H)

y 3 {(G .',’. l ’

I s ,SY D 9 B Llgadl el gl duwlsdly pasgsi] dic
-5/3 lgwl T 6Y B 35S0 gl (ol J81)JI3ml



J question No. 10
Solving the equation 2AP-3rt=5Prt for P gIVES




" Question No. 9

-

- 2
The quotient — can be written-as
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Total questions in exam: 25 | Answered: 0

Question No. 2

Solve A = P(1 + nr) forr

A—-P
r —

Pn

Pn
y —

A—P

A
 — =

n

P—A

Pn




Question No. 2

———————————
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Simlplifyingthepovw0.f "% gives

v -3
3+
1235



MKCL OES

e ————— i —
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Question No. 3

let 2 #0,y #0 and z #—y. Then (z7'+y Nz +y)!is equal to

r+y

Ty




QuestionNo 13 U 7o P B
s tions is not a linear equation"

" Which one of the followmg equa

T x—1=0
) +0.5(2x+4) =

3X3—§-x+1:0

0.02x—-0.002x = 0.50




Question No. 1

The exponent of (2xy)? is

2Xy
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Question No. 25

'f

S0INg the equation 2(3x-4a)+4b=5x+4(D-a) Tor x gives =
-—
-
—
b-a -
x O ——
ib+5Sa
X -423
X = 423
‘A
x T
4b

A rEe rwmi
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Question No. 8
Factor the polynomial r* + 5r° — 36 completely

(r* - 4)(* + 9)
(r 4+ 2)(x* 4+ 9)

(r = 2)(x 4+ 2)(x* +9)

\F=20r+ 2z 4+ 3)r -3




Total questions in exam 28 | Answered 1

Question No. 2

’

Factor: 6x°












 Total questions in exam 25 | Answered: 9

Question No. 9

Suppose that n € N and n < 4. The degree of the polvnomial

rw )

2 ‘ .. .9 -
'y —2Zxy+ J'Jy).(]/"r‘ — 3x"y + 5vy”) i1s
"'nNn+13
v 13

“N+4)Nn +
12




Question NO

Perform this division (om 13m-1S)-—(m*

6m - S

om -

m-— S

bm+ S







TR T v

Dividing t) “
‘ »w - 1 2
w : \‘.\ oIl W N l!.\ Y, ¥ ives

. ’.‘ -‘_V )
v 4 Jy + 4
v Jy + 4
y" 2y :




Question No. 14

The simiplified expression of (—9)*/¥ is paositive if the values of z and y are equal to

=gy =2
pe=ms y=2
z2=9 9=3
z2=8 y=2
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Totat

Question No. 1 |

‘ S o 5 h > ‘ :
Ihe expression 82" + 32 + 4z can be classified as a

I -




Question No. 10

Dividing —33x®-9x%+30x* -21% by —3x" gives

ll.r6 03.\'" ll.\"Z -7

o6 -~ 4 2 - |
llx" +3x 11x“ 4+ /x










Question No_ 4

S Thhe eguation that Bustrates tThe dstnibutive property

w 4=x1~4
4 =6+« N A =t « 4 =7
4+6 6+ 4
d+2(6 7)o (4 o6)7




™ il

| - ‘ ..f.'.g_‘
‘ :" W -1_.5,_’
4 Sewect the corredt property that describes the gven e L

X (y+3)=x+(3+y)

9 Assoczatve property of muBIDECaton
© Commutative property of a0ation
< 1centty property of addon

“ Inverse property of acdion










question NO. 19
{ describes thé given equation

e correct property tha

Select In
15x 7+ 10X 9

15 x (7 +9)

Nistributive property
identity property of addion

~ommutative property of addimion

rse property of adamion

inye







Question No. 21

Sedect the correct propeity ihat describes the given equaton

18-1?)-3-8-(1?-3)

Associative property of multiphcation
jgentity property of addition
inverse property of agdion

Commutative property of addibon
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Question No. 5

S @ universal set then the compiement of U Is equal to




Total questions in exam

U= (9. 10)

U={0.1.2,3,4,5,6,7,8,9, 10)
U={)

U={0.1.2.3.4.5 6.7 8)

ﬂ' -
e
l,‘ 'y .' ‘-
'
c._ e .









Question No. 10

Using set notation, the elements belonging to the sel
{x|] x Is a natural number less than 2} are

9]

1)
0}












Question No. "

The intersection {4, 0, g 10.12,14} [ {4, 5,0, 10} gaves

(4.6, 10}
(4.6, 8,10,12, 14}

)
(4.6, 8,10




{ otal questions 1 Cxam 28 | Answered 0

Question No. 12

Determine the following intersection anf{6,7)

()
((),7]
=)

L /)

!h’




Question No. 24

[14]C A




Let U -3 -2
{-3,-2,-1,0,1,2,3 4.5.¢
Find (AN BY 3,4,5,6}. A {-2.0.2 4 6}, and B {(
£ Ml Z2& 08 q;}

. W,

U

{(-3.-2.-1. 1,4, 6)
(<3.-2,~1, 1, 3 5)
(9,21, 1,3, 5, 6)




| Total questions in €xam. 25 |_An_wgre£j 5

" Question No. 6

~4/3

Evaluate— (2:3)
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Total questions in exam: 25 | Answered: 2

Question No, 4

Find the value of the discriminate fo; this equation 2

TIX— 6=
——


‏iPad ‏Tariq

من ذا القانون 


| Total questions in exam: 25 | Answered: 12

Question No. 13

: . +1 2_4q
Find the quotient = - x3
X—1 x=—1

O 22_x31

=1
x24x41
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| Total questions in exam: 25 | Answered: 12

Question No. 15
Factor : (4x—y)3-125

" ((x—y) + 5)((4x—y)* ~ 5(4x — y) + 25)
- ((4x—y) + 5)((4x—y)? - 10(4x —y) + 25)

=y - 5)((4xy)” + 5ax—3) + 25)

- ((x=y) =5)((4x—y)* + 10(4x—y) + 25)

({{ o >J— 53

[<C7X~>>~5] {@K *331 5(‘1"‘3>*2t1
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Total questions in exam: 25 | Answered: 3

Question No. 4

Simplify (-5p*)(-8p?)

- —40pn2



‏iPad ‏Tariq


Total questions in exam: 25 | Answered: 0

" Question No. 1

i The value of V—4 is

Q2

© -
) 9§
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Total questions In exam: 25 | Answereq- 1

Question No. 2

Factor: €y _ x—15

(2x~—3)(3;r——5)
(2x + D3 =
(6x+3)(:c~5)
(6x - 3)(x+ 5)

S A
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Question No. 3

Perform the indicated operation.
(—4 + 8i) + —61L
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" Question No. §

- The solution set of the equation 2(x+3)=2x-6 is

2)(**6;2/(\6
LHRS K

L ® All real numbers { 7/ 1138l

U 2,3

P

R
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Question No. 20
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squn

C&/}(% )

e -

CK*DB
B i+

Riski)
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Question No. 1

-
Simplify i I
1 3
i
' A
i 1
121:; )‘*



‏iPad ‏Tariq




‏iPad ‏Tariq




‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq




‏iPad ‏Tariq




‏iPad ‏Tariq

‏iPad ‏Tariq




‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq




‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq


MKCT OFS
MKCL OES

Total questions in exam: 25 | Answered: 16

Question No. 19

- The roots of x2:‘3x“‘6 are
'
3+i15



Question No. 17

A |
X +x—3
-___-_'_'_'-——-
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Ip(8pq )3 2q(pqys
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Question No. 11

Factor : 4x2-y2-6y—9

O @2x-y+3)2x+y=-3)
O (4x-y-3)ax+y+3)

O (4x -y +3)(dx +y~3)

C/X/L" (‘Dl—r 6y +9J
7 (a3) (343
Gt — (91 3)

Q CE 3}) (Z - (afﬂb
(Z X \J\5> (invﬂ+3>

Scanned with CamScanner
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Total questions In exam: 28 | Answered: 11
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" Question No. 22

- -
. —— I -

(74 674 Bud=dx) H(-5xt+ 24~ 2 + 7x5)

9 20424460+ 3

15x°-0x44-8x3 4+ 5
(8

1 5x10 984 8ab-+§
Y l4aMy s

NGNS A
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Question No. 23

- - — et

Write this expression as the product of areal number and i

3
~J=80
- 8

© 12iV5

© 6ivS

O 31.\,3

o —6V5

Scanned with CamScanner



' Question No. 24

Simplify e

T 2 Ar( 4 X
xy—1

O xX+y >< D 7< o
y(x-1) — — 3
x+1
X+y >< N
== e

-

P

_—‘
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Total questions in exam: 25 | Answered: 11

Question No. 20

Solve 75 =X =X
778

O 1125

——

2
O 1125

| —

~56
° 280
*5

Scanned with CamScanner



Question No. 18

Factor —12x2+ 27 j

9 3u+3)
- -3(2x +3)2
“ 3(r-3p

C{s(zx +3)(2x - ”ﬁ
0 e A\ =5 2l %

3(ip9) 5"

3 (:(ZY /5) /zH zﬂ

ey

P&
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Question No. 16 .

Factoring x* — y*

O X’—y’

o (x = y)(x? - 2xy +y?)
4 (c+ )02 + xy + y?)
Y (x—y)(x? +xy + y?)
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Total questions in exam 25 | Answered 0

Question No. 17

xz ~3re2
Simplify the expression. ——-i‘f‘—

PRSI
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Question No. 23

Petrform the indicated operation.

(7-30) = (5-20)

SN A
Pl — 2

Scanned with CamScanner



Question No. 16
Factor the following polynomial :4tx* + ytz — 4zt — tyx®

< x3 +z)(dt+yt)

'(:-)(4 y)\

-2)(4 -
Ct(x? - 2)(4 +>)

[@% T Jﬁﬁy% i P@JN \jr%
L 4-) -2 =)

<%->B C%yg >4
ave ekt w‘9> %CX -2>
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. Simplify the complex ﬁ'actionﬂ.

B

. s
— —— —

.’L'+3 .’B_El
z—1 +:z:+3

Scanned with CamScanner



Simplify the expression, assuming that the variable can repres
: — B

& -2l vl

¥ Bl
16a*

164"

81
16a°

81

\
. 1
s g1
16a*

7:9@(;@;@@
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Question No, 22

(28-1‘,26-2)2
(37'b)(2"tac™%)?

Perform the indicated operation

~ 24be?

SIS N
Sy

— 1= B 6
C/(jj (5) Co E% ( -
[SERE NS | 74 )93 Cz
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Questien No. 19 FLs
=
/10
- - -

T feo numbers gives
writieg, — oy in standard form of comple
O ~14iv2
0 _1-2
Q-1+ V2
O .1-iv2

g

-

m C‘%zﬁ
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Question No. 17

—— - —

" 3 4
Find the sum — + —
2y a4y

Save & Next AN, S
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Queston No, 18

- - —— - - - —_

Factor out the least power of the variable  18n*? — 12p/
6n3(3n— 2)
.-
6n3(3n? — 2n)

e _ !
6ni(3n® - 2)
o

-
6na(3 — 2n)

/h%(gﬁ q* 7/>

Save & Next AP A
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‘ Question No. 5

' - - '
: When factored completely 25x%" + 10x9° becomes

—— - —— -

Y Sn2(Syr+2)
Y5 (S + )
Y Sxf (Sxy + 299)
Y 5(5x%0 + 209

6><3l(6><j + )

I ——
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Question No. 2

e :. “ »
e quotient egy L e writlen as
A

-
LS N
o
L ) '..
Lo [

A\

(%VJ% >

EomErs .
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question NO. 24
Let = € Z. Simplify the following expression & = g3 +4= -
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Question No. 12

Perform this operation and express the answerin the simplest form

sm+ 1 m+ 9

m — 4 m 4

Zm+10

m-—&

dm+ 10

m 4
3
-
ém-~8
m -4
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Question No. 21

SO a5 ”\l‘ ‘\lnti\h‘ t" ol li‘.!l 'B||I|l“l ! .llll’ {

Write this OXPIres

i\ .!p




Question No. 4

Factor 20x* - 6x' 14x7

@ 2x°(10x? - 6x + 14)
@ 2x(10x? - 3x +7)
© 20x(x’ - 6x? + 14x)

20x%x? - 3x + 7
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Question No. 17

Perform the indicated operal

(.I
/4
’
"l
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Question No. 19
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Total questions in exam: 25 | Answered: 3

Question No. 14

Factor: 9x°* + yz — 9z — yx?

(x% + 2)(9 - V)
(X =29 +Y)
(x* —2)(9—y)

(x% +2)(9 +vy)
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